

Tabulation Of Bids

Event #: 273
Version: 4

Name: Annie Beck Park Improvements

Description: Annie Beck Park - Park Improvements

Event Currency: USD

Supplier Bid Amount

540,139.40

PRM Engineering & Contracting Inc.

1005 Marina Mile Blvd.

Suite 477

Fort Lauderdale, FL 33315

Items

Item: INSTALL FILL WITH WASHED #1STONE

Description: Install Fill with Washed #1 Stone

Unit of CY Quantity: 148.0000

Measure:

Quantity Unit Price Extended Amount PRM Engineering & Contracting Inc. 148.0000 103.34000000 15,294.32

Item: 3 INCH LAYER #57 STONE

Description: 3 Inch layer #57 Stone

Unit of CY Quantity: 5.0000

Measure:

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	5.0000	1,596.00000000	7,980.00

Item: 3 INCN #57 STONE

Description: 3 Inch #57 Stone

Unit of CY Quantity: 3.0000

Measure:

PRM Engineering & Contracting Inc.QuantityUnit PriceExtended Amount2,660.000000007,980.00

Item: #57 STONE FOR SLOPE

Description: #57 Stone for Slope Stabilization

Unit of CY Quantity: 19.0000

Measure:

QuantityUnit PriceExtended AmountPRM Engineering & Contracting Inc.19.00002,100.0000000039,900.00

Item: REMOVE BENCH

Description: Remove Bench

Unit of EA Quantity: 1.0000

Measure:

QuantityUnit PriceExtended AmountPRM Engineering & Contracting Inc.1.00002,660.000000002,660.000

Item: FURNISH AND INSTALL BENCHES

Description: Furnish and Install Benches

Unit of EA Quantity: 4.0000

Measure:

QuantityUnit PriceExtended AmountPRM Engineering & Contracting Inc.4.00001,995.000000007,980.00

Item: CLEAR AND GRUB STRIPPING

Description: Clear and Grub Stripping

Unit of AC Quantity: 1.0000

Measure:

PRM Engineering & Contracting Inc.QuantityUnit PriceExtended Amount21,280.0000000021,280.000

Item: COMPACTED LIME ROCK

Description: compacted Lime Rock for Base Fill

Unit of CY Quantity: 12.0000

Measure:

QuantityUnit PriceExtended AmountPRM Engineering & Contracting Inc.12.0000498.750000005,985.00

Item: 6 INCH COMPACTED LIMESTONE

Description: 6 Inch Compacted Limestone for under Concrete Pad

Unit of CY Quantity: 1.0000

Measure:

QuantityUnit PriceExtended AmountPRM Engineering & Contracting Inc.1.00004,655.000000004,655.000

Item: CONCRETE PAD

Description: Concrete pad

Unit of SY Quantity: 4.0000

Measure:

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	4.0000	1,197.00000000	4,788.00

Item: CONCRETE PADS 4 INCH

Description: Concrete Pads 4 INCH

Unit of SY Measure:

Quantity: 20.0000

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	20.0000	299.25000000	5,985.00

Item: CUT AND FILL GRADING

Description: Cut and Fill Grading

Unit of SY Quantity: 268.0000

Measure:

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	268.0000	74.44000000	19,949.92

Item: 6 IN DRAIN FIELD WASHED #4 STONE

Description: 6 Inch Drain field washed #4 Stone

Unit of CY Quantity: 10.0000

Measure:

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	10.0000	465.50000000	4,655.00

Item: EROSION CONTROL DEVICES

Description: Erosion Control Devices

Unit of LS Quantity: 1.0000

Measure:

PRM Engineering & Contracting Inc.QuantityUnit PriceExtended Amount99,750.0000000099,750.000

Item: NONFORWOVEN GEOTEX

Description: NonforWoven Geotex

Unit of SY Quantity: 536.0000

Measure:

PRM Engineering & Contracting Inc. S36.0000 18.61000000 9,974.96

Item: NONFORWOVEN GEOTEX TYPE 1

Description: NonforWoven Geotex for Rock Revetment Type 1

Unit of CY Quantity: 213.0000

Measure:

QuantityUnit PriceExtended AmountPRM Engineering & Contracting Inc.213.0000156.1000000033,249.30

Item: NONFORWOVEN GEOTEX TYPE 2

Description: NonforWoven Geotex for Rock Revetment Type 2

Unit of CY Quantity: 27.0000 Measure:

PRM Engineering & Contracting Inc.

Quantity
Unit Price Extended Amount
172.41000000
4,655.07

Item: NONFORWOVEN GEOTEX TYPE 3

Description: NonforWoven Geotex for Rock Revetment Type 3

Unit of CY Quantity: 2.0000

Measure:

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	2.0000	266.00000000	532.00

Item: NONFORWOVEN GEOTEX

Description: NonforWoven Geotex

Unit of SY Quantity: 62.0000

Measure:

PRM Engineering & Contracting Inc. 62.0000 21.45000000 1,329.90

Item: GEOWEB PAVEMENT SYSTEM

Description: 6 Inch Geoweb Pavement System

Unit of SF Quantity: 4,227.0000

Measure:

QuantityUnit PriceExtended AmountPRM Engineering & Contracting Inc.4,227.00003.1500000013,315.05

Item: FINE GRADING

Description: Fine Grading

Unit of SY Quantity: 536.0000

Measure:

QuantityUnit PriceExtended AmountPRM Engineering & Contracting Inc.536.000019.8500000010,639.60

Item: GRADING

Description: Grading

Unit of SY Quantity: 560.0000

Measure:

May 24, 2024

Page 6

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	560.0000	17.10000000	9,576.00

Item: DEMOLITION

Description: Demolition - gravel path

Unit of SF Quantity: 4,000.0000

Measure:

PRM Engineering & Contracting Inc. 4,000.0000 4.99000000 19,960.00

Item: DRAINAGE GUTTER

Description: Drainage Gutter with Stones

Unit of CY Quantity: 27.0000

Measure:

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	27.0000	738.89000000	19,950.03

Item: HANDRAIL

Description: Furnish and Install Handrail

Unit of LF Quantity: 30.0000

Measure:

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	30.0000	221.67000000	6,650.10

Item: LARGE STONES

Description: Large Stones as required

Unit of CY Quantity: 2.0000

Measure:

May 24, 2024

Page 7

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	2.0000	665.00000000	1,330.00

Item: MOBILIZATION

Description: Mobilization and DeforMobilization

Unit of LS Quantity: 1.0000

Measure:

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	1.0000	7,315.00000000	7,315.00

Item: MOBIFORMAT

Description: 5' Wide MobiforMat

Unit of SF Quantity: 300.0000

Measure:

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	300.0000	15.52000000	4,656.00

Item: PEA GRAVEL #89 STONE

Description: 3 Inch Layer Pea Gravel #89 Stone

Unit of CY Quantity: 5.0000

Measure:

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	5.0000	665.00000000	3,325.00

Item: PEA GRAVEL #89 STONE

Description: 1 Inch Layer Pea Gravel #89 Stone over MobiforMat

Unit of CY Quantity: 1.0000

Measure:

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	1.0000	1,130.50000000	1,130.50

Item: POST AND ROPE

Description: Furnish and Install Post and Rope

Unit of LF Quantity: 85.0000

Measure:

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	85.0000	187.76000000	15,959.60

Item: PARK IDENTITY SIGN

Description: Furnish and Install Park Identity Sign

Unit of EA Quantity: 2.0000

Measure:

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	2.0000	4,987.50000000	9,975.00

Item: DEMOLISH SIGN

Description: Demolish Sign

Unit of EA Quantity: 2.0000

Measure:

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	2.0000	997.50000000	1,995.00

Item: SOD

Description: Install Sod by Construction Access

Unit of SF Quantity: 271.0000

Measure:

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	271.0000	17.18000000	4,655.78

Item: KAYAK LAUNCH STABILIZATION

Description: Kayak Launch Stabilization Revetment

Unit of CY Measure:

Quantity: 19.0000

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	19.0000	700.00000000	13,300.00

Item: STONES FOR REVETMENT

Description: Stones for Revetment - Stone size varies

Unit of CY Quantity: 213.0000

Measure:

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	213.0000	187.32000000	39,899.16

Item: TRASH RECEPTACLES

Description: Furnish and Install Trash Receptacles

Unit of EA Quantity: 6.0000

Measure:

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	6.0000	1,330.00000000	7,980.00

Item: REMOVE TRASH RECEPTACLE

Description: Remove Trash Receptacle

Unit of EA Quantity: 1.0000

Measure:

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	1.0000	997.50000000	997.50

Item: TREE PROTECTION BARRIER

Description: Tree Protection Barrier

Unit of LF Quantity: 654.0000

Measure:

PRM Engineering & Contracting Inc. G54.0000 17.29000000 11,307.66

Item: REMOVAL OF TREES

Description: Removal of Trees

Unit of EA Quantity: 18.0000

Measure:

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	18.0000	997.50000000	17,955.00

Item: 12 INCH WASHED STONE #4

Description: 12 Inch Washed Stone #4 for Shoulder

Unit of CY Quantity: 14.0000

Measure:

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	14.0000	427.50000000	5,985.00

Item: 4 INCH WASHED STONE #4

Description: 4 Inch Layer of Washed Stone #4 Rock Revetment Type 2

Unit of CY Quantity: 9.0000

Measure:

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	9.0000	221.67000000	1,995.03

Item: 12 INCH WASHED STONE #4

Description: 12 Inch Layer of Washed Stone #4 Rock Revetment Type 2

Unit of CY Quantity: 27.0000

Measure:

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	27.0000	334.96000000	9,043.92

Item: 4 INCH WASHED STONE #4 TYPE 3

Description: 4 Inch Layer of Washed Stone #4 Rock Revetment Type 3

Unit of CY Quantity: 0.5000

Measure:

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	0.5000	2,660.00000000	1,330.00

Item: 12 INCH WASHED STONE #4 TYPE 3

Description: 12 Inch Layer of Washed Stone #4 Rock Revetment Type 3

Unit of CY Quantity: 1.0000

Measure:

	Quantity	Unit Price	Extended Amount
PRM Engineering & Contracting Inc.	1.0000	1,330.00000000	1,330.00